

PHOTON GAS, LIQUID

3/15/23

①

CALCULUS OF
 $U(T)$ (photon), \bar{N}_{photon} ,
 P_{photon}

Review of calcn leading to

0) $\Delta V \Rightarrow$

1) $\frac{\Delta V dK}{(2\pi)^3} =$ no. of waves in ΔV w/in $K, K+0K$

2) $Q = \sum_{states} e^{-\beta E_j}$ sys = \bar{N} replace N p/t cy

3) For N single N. vtd sys $E_j = n_1 \epsilon_1 + n_2 \epsilon_2 + \dots$

4) $Q_s = \sum_{n_i=0} e^{-\beta n_i \epsilon_i} = \prod (e^{-\beta n_i \epsilon_i})$

5) $\bar{N}_s =$ mean of N_s in Q state $\epsilon_s = \frac{\sum N_s e^{-\beta N_s \epsilon_s}}{\sum e^{-\beta N_s \epsilon_s}} = -\frac{1}{\beta} \frac{\partial}{\partial \epsilon_s} (\ln \sum e^{-\beta N_s \epsilon_s})$

6) $\sum_{n_i=0} e^{-\beta n_i \epsilon_s} = \sum_{n_i=0} e^{-\beta n_i \epsilon_s} = 1 + e^{-\beta \epsilon_s} + e^{-2\beta \epsilon_s} + \dots$

$S_n = \frac{1}{e^{-\beta \epsilon_s}}$

==

7) $\Rightarrow \bar{N}_s =$ avg. no. of photons in N-photon state (2)

8) form: $N_s \cdot 4\pi k^2 dk \Delta V / (2\pi)^3$

(Avg. no. of photons in ϵ_s) \cdot (no. of wave modes in ΔV range in $k_s, k_s + dk_s$)

\Rightarrow avg. no. photons in ΔV

pattern recognition

8a) $f(|k|) \cdot d|k|$

8b) $\left(\frac{\text{no. of photons w/ wave no. } |k|}{\text{unit vol. in } |k| \text{ space}} \right) \cdot \left(\text{vol. in } |k| \text{ space} \right)$

(2) each $|k|$ has one of 2 polarizations

$$\left[\frac{1}{(e^{\beta \epsilon_s} - 1) (2\pi)^3} \right] \cdot 4\pi k^2 dk \Delta V$$

8c) $\therefore \bar{N}_s \cdot \Delta V$

8d) $\left[\text{avg no. of photons in } \Delta V \text{ w/ } |k| \leq |k| \leq |k| + dk \right]$

9) $\omega = ck$

$c = \frac{\omega}{k} \Rightarrow k = \frac{\omega}{c} \Rightarrow dk = d\omega/c$

$$\therefore \frac{f(\omega) d\omega}{dV} = \frac{1}{(2\pi)^3} \frac{8\pi \omega^2 d\omega}{c^3}$$

= avg. no. of photons w/ ω between ω and $\omega + d\omega$ / vol

$\omega = v 2\pi \quad d\omega = 2\pi dv$

$$\frac{f(v) dv}{dV} = \frac{(8\pi/c^3) v^2 dv}{(e^{Bhv} - 1)}$$

= avg no. photons w/ freqs between $v \pm v + dv$ / vol.

II) calcn of $u(T)$ photon

10)
$$u = \frac{h 8\pi}{c^3} \int_0^\infty \frac{v^3 dv}{(e^{Bhv} - 1)}$$

11)
$$\bar{u}(\omega, T) = \frac{h\omega 8\pi \omega^2 d\omega}{(2\pi c)^3 (e^{Bh\omega} - 1)}$$

energy of photons in dV having frequencies $(\omega, \omega + d\omega)$

12)
$$u(T) = \int_0^\infty \bar{u}(\omega, T) d\omega$$

$$u(T) = \frac{\pi^2}{15} \frac{(k_B T)^4}{(h)^3}$$

see e.g. Reif ch. 9

$$\bar{N} = \frac{U}{\Delta V} = \Sigma$$

Handwritten mark

13) $\left[\begin{array}{l} U_{\text{photon}} \\ \text{black} \\ \text{body} \end{array} \right] \propto T^4 \Rightarrow \text{ Stefan Boltzmann Law}$

III) DERIVATION OF AVG. NO. OF PHOTONS IN ΔV (of all frequencies) $0 < \omega < \infty$

$$14) d\bar{N}(\omega) = \sum_{s=1}^2 \bar{n}_s = \int \frac{1}{(e^{\beta \hbar \omega} - 1)}$$

$$\Delta \bar{N}(\omega) = \frac{8\pi k^2 dk \Delta V}{(2\pi)^3} \cdot \bar{n}(k)$$

$$\Delta \bar{N}(\omega) = \frac{8\pi \omega^2 d\omega}{(2\pi\hbar)^3} \frac{1}{e^{\beta \hbar \omega} - 1} \Delta V$$

(no. of wave modes, = photons) ω k , $\omega = ck$

$\hbar \omega = \frac{c \cdot \hbar k}{k}$
 $\Rightarrow \omega = ck$
 $\Rightarrow k^2 = \omega^2 / c^2$
 $dk = d\omega / c$

$$15) \frac{d\bar{N}(\omega)}{dV} = \frac{8\pi \nu^2 d\nu}{c^3 (e^{\beta h \nu} - 1)}$$

$\omega = 2\pi \nu$

$$16) \therefore \left[\frac{\bar{N}}{dV} = \frac{8\pi}{c^3} \int_0^{\infty} \frac{\nu^2 d\nu}{(e^{\beta h \nu} - 1)} \right]$$

Handwritten mark

16) $du = Tds - PdV$
 $P = \left. \frac{\partial u}{\partial V} \right|_s$

17) $P = - \left. \frac{\partial A}{\partial V} \right|_{N,T}$

$A = -KT \ln Q_{sur}$

$Q_{sur} \therefore P = KT \left. \frac{\partial \ln Q}{\partial V} \right|_{N,T}$

IV) CALCUL OF AVE photon pressure exerted on ~~the~~ WALLS of our BOX, volume V

(or on subvolumes ΔV , having virtual SURFACES

18) $Q = \sum e^{-\beta \epsilon_j}$
 $= \sum_{\epsilon_j} e^{-\beta(n_1 \epsilon_1 + n_2 \epsilon_2 + \dots)}$
 $= \left(\sum_{n_1=0} e^{-\beta n_1 \epsilon_1} \right) \left(\sum_{n_2=0} e^{-\beta n_2 \epsilon_2} \right) \dots$

$= \left(1 + e^{-\beta \epsilon_1} + e^{-\beta \epsilon_1 \cdot 2} + e^{-\beta \epsilon_1 \cdot 3} + \dots \right) \dots$

19) $S_n = A + Af + Af^2 + \dots$
 $A = 1 \quad f = e^{-\beta \epsilon_1}$

$f S_n = Af + Af^2 + Af^3 + \dots + Af^{n+1}$

$S_n - f S_n = A - Af^{n+1}$

$S_n = \frac{A(1 - f^{n+1})}{1 - f} = \frac{1}{1 - e^{-\beta \epsilon_1}}$

$$\therefore Q = Z = \prod_{E_s=1}^{\infty} (1 - e^{-\beta E_s})^{-1} \quad (6)$$

$$20) E_s = \hbar \omega_s = \hbar c k_s$$

$$= \hbar c [k_x^2 + k_y^2 + k_z^2]^{1/2}$$

$$= \hbar c \left[\frac{2\pi}{L} \right] (n_x^2 + n_y^2 + n_z^2)^{1/2}$$

↑↑

$$\text{From } \sqrt{\nabla^2 \psi + k^2 \psi = 0}$$

$$= c L^{-1} = c v^{-1/3}$$

$$21) \therefore \frac{\partial Q}{\partial \beta} = \frac{\partial}{\partial \beta} \prod_s (1 - \exp[-\beta E_s])^{-1}$$

$$= \prod_s \frac{e^{\beta E_s}}{e^{\beta E_s} - 1} = \prod_s \frac{1}{\beta E_s} \ln(e^{\beta E_s} - 1)$$

$$\frac{\partial}{\partial \beta} \prod_s \ln(e^{\beta E_s} - 1)$$

$$= \prod_s \left[\frac{1}{e^{\beta E_s} - 1} \right] \beta \left(\frac{\partial E_s}{\partial \beta} \right)$$

(2) (3) (4)

$$= [1] (1 - e^{-\beta E_1}) \dots (1)$$

$$+ [1] [2] [3] [4] \dots \frac{(2)}{(1 - e^{-\beta E_2})}$$

$$+ [1] (1) (2) [3] (4) \frac{(3)}{(3)}$$

(7)

$$(7.1) \quad \left[\frac{\partial Q}{\partial \mathcal{H}} = Q \left[\sum_{s=1} \frac{[s]}{(s)} \right] \right]$$

$$(7.2) \quad \left[\langle s \rangle = (1 - e^{-\beta \epsilon_s})^{-1} \right]$$

$$(7.3) \quad \left[\frac{[s]}{\partial \mathcal{H}} = \frac{d}{d\mathcal{H}} (1 - e^{-\beta \epsilon_s})^{-1} \right]$$

$$= (-1)(s)^2 \frac{d}{d\mathcal{H}} (e^{-\beta \epsilon_s}) = (-1)(s^2) \frac{d}{d\epsilon_s} (e^{-\beta \epsilon_s}) \frac{d\epsilon_s}{d\mathcal{H}}$$

$$= (-1)(s^2) \beta \epsilon_s \frac{d\epsilon_s}{d\mathcal{H}}$$

$$\left[\frac{(-1)\beta s^2 e^{-\beta \epsilon_s} \frac{d\epsilon_s}{d\mathcal{H}}}{1} \right]$$

$$\therefore \frac{\partial \ln Q}{\partial \mathcal{H}} = -\beta \sum_{s=1} s \frac{d\epsilon_s}{d\mathcal{H}}$$

$$= -\beta \sum_s \frac{e^{-\beta \epsilon_s}}{(1 - e^{-\beta \epsilon_s})} \left(\frac{d\epsilon_s}{d\mathcal{H}} \right)$$

$$(7.4) \quad \left[\frac{\partial \ln Q}{\partial \mathcal{H}} = -\beta \sum_s \left(\frac{1}{e^{\beta \epsilon_s} - 1} \right) \frac{d\epsilon_s}{d\mathcal{H}} = -\beta \sum_s \bar{n}_s \frac{d\epsilon_s}{d\mathcal{H}} \right]$$

$$(7.5) \quad \therefore P = - \frac{\partial A}{\partial \mathcal{H}} \Big|_{N, T}$$

$$= - \frac{\partial [kT \ln Q]}{\partial \mathcal{H}} \Big|_{N, T}$$

$$= (-kT) \frac{\partial \ln Q}{\partial \mathcal{H}} \Big|_{N, T}$$

$$= \sum_s \bar{n}_s \frac{d\epsilon_s}{d\mathcal{H}}$$